L9
A=
A o

v

=g

(R 13 PRI S 20 5 Ak g
Fepdd EFARIISE0N3? 18P
e FEL ,bi F %1130002445%-
DiRPpd B FT3EL IR MR R 2T A 2 %2
¥

o

SR AL AR

F= p s A RIITE0T 01p
Byt 59 3 A HAEL QOB 55 (AT 1)

FEART A BEIMA (X9 FT) S EREmAS (20 ) GRoE) o

SAWF o p 113 & 04 % 01 p32 113 & 06 * 30 p 3 B " o ik {TrcALR 2 %4801 %458

R THF2AP 2P RLBEPSHL RLPF o UZp2p 3 F2Ap PR

ZAPEHAE O A EY - P ESHFRD o PR oAtk P FIE AT 0 SR

BEia b 3T Bl RE PP S04 2 %kp o

:s%&u,ﬁ T )R ?fﬁ—?g%:«gg AEd DAY THRGED 2 2 A A JCE AR )

oL WERY pREKEEE o d DT B(P ) s P FIT

(- )&k A e ¥ dRip MR fen RATIS M & A 17 28 @ 11 ah I T sedodig AR g 0 2 g
MBI LE S B HP B F A ZRY -

(ZDRMA ML S AR AL B RE AR F A UM RIEC F60ER T L e
T MKA R AT KR .

(Z)° m¥ s Y PRKE e FIR 2 BT R E el 2 0 Jo 2t ap { 2

PP CEILIGE RS 0 v A Y PREKE 0 2 BTSEL IR BHFMANRET M

2B E R 12060 Ma A 5 2 A > A MK FlE R a g W KA KR

VoRMRE e o Bl H Y - A 4§3ﬁ$%”4iﬁié’Tﬁk%&4*<i%’@3%;2

(i)

b
=)

1+
DO
b



EALE 15 PRI N 2 A0 ¢ L s

B

\4

Rix (£ 9 &)

1§57 27 £1394-0000% 55 » & ## © 25.00F 3 = ¢
BAER (23 1421

2. §51 7 & E1397-0000% 55 - & f# : 300. 00% * 2 <
EHEE (237 1421

3. 51t P 4 frF0333-0025% 55 > & 4% 0 6.00L 3 2%
BfIFER: (23%) 1421

4. §510 9 & 3 BUEAT L B0097-0052% 55 > & 4% ¢ 10.00T 3 2 2
BfIFER:(23%) 1421

5. 51t F @ 3 BEE S ) F0097-00548 5 0 & 4 0 20.00% > 2 2
BAER (23 1421

6. 5t & 3 gEET ) £0229-0065% B0 & A 49.00T 3 2 =
BAER (230 1421

T. 3§51 F#£1262-00043 55 > & f# 1 55. 00T = 2 ¢
BAER (230 1421

8. 517 FH£1263-0003 55 > & % ¢ 8.00L > = ¢
BAIFER:(23%) 1421

9. TEHME T E0987-0000% 55 0 & 4F ¢ 232, 10T 3 2 ¢
EAER (230 1421

IR (2 0 )



